= AH O
N = 0 &8 AF S & Al A
20109 & =20lA LBHSIH HRD ~ D
A HED
M WEXL
Sl XA 22l (e
= T o = = 1 I|_-|LI;=|_||:_ =
2AH -3 - SH2A(SH) - MEAMY - BHES Ol & oK Oll AF O HusZ
JE=ans 27,521,144 28,234,857 NAT713,713
= 167,650
< 2,000
= 27,351,494
MEX& 1,150,359 1,095,040 55,319
XA 22l 64,915 67,187 N2,272
KA 20 2 ALK 59,415 67,187 N
201 Lt AH| 36,315 38,787 NA2,472
01 AF222|H] 19,565 21,495 21,930
oz 19,565
02 2224l 16,750 17,292 A542
(@F°L 16,750
202 O4H| 9,000 9,500 A500
01 =2l 9,000 9,500 A500
OXlI et M & 2= 7,000
OJAAHF DHHYEH A LdHEH 2,000
303 EAZ 11,100 15,900 A4,800
01 Z&a2 11,100 15,900 A4,800
ONMEEI A 245H Al& 1,500
OMY XA & LAz 1,200
ONEAMges 8 &2
1,000,000 x2S 2,000
OFIIZ2 NN 8 24+SH T4 6,400
— XS XA 600,000& *45 B %13 2,400
— i AEA 500,000 45 B1+23| 4,000
307 SI2t01& 3,000 3,000 0
02 DI2ZHAAEX 3,000 3,000 0
OWDE Alge2s =& X2 3,000,0002 13 3,000
S8HQ XYM = 5,500 0 5,500
403 XXM SK=20lH 5,500 0 5,500
02 ZI|2S0ICHEHCHEE AR I 5,500 0 5,500
OXNLHESAAE THIHLY 11,000,000 *50% 5,500
Al2l4=2l 22l 19,700 22,000 2,300
M2l =2l 2tel 19,700 22,000 A2,300
201 Lt AH| 4,700 4,500 200
01 AF222(H] 4,700 4,500 200
Os™ 4,700
202 OiH| 5,000 4,500 500
01 2o Y| 5,000 4,500 500




M HR
3 HEXH

ol Mol 2tel CEREED
_ _ _ AT
SAN-ZH-SA(FA) - NFAY - BES (il & OH ‘Oﬂ/i\_Fo” Hlw &2
O=2Uot 5,000
— M2 gRFA 4,000
—Hel=g MEAN =X 1,000
403 XEXIEH S =0l H 10,000 11,000 A 1,000
02 SIIZSOICHSHH &8 ALS HI 10,000 11,000 A 1,000
OM+=LHBAIAE SXE =4 10,000
M ak2te| 814,569 826,027 A11,458
SEXQ At 314,569 526,027 A211,458
201 et 268,569 240,451 28,118
01 AtR2teld] 7,035 7,913 2878
OsH 7,035
02 23223l 261,534 232,538 28,996
OosH 202,000
O3red NMESHz=IHI 59,534
202 O 5,500 6,000 A500
01 2o 5,500 6,000 2500
OXat2e|gde =&l 5,500
303 Za= 2,500 2,500 0
01 Z&3 2,500 2,500 0
OREJAINE HEAIE 2,500
401 AlEHIZL 28l 10,000 160,000 150,000
01 Al&HI 10,000 160,000 A 150,000
OFEAL & 2tA RRES 10,000
405 AHAHE SH 28,000 51,000 ~23,000
01 MM E=ZSHSHI 28,000 51,000 223,000
O==s4 UXg TV 1,500
Oz+4 Mo & o7 Y 2,000
OFAEE(EAD, ®IIEE) 500
Osgxeg M= 24,000
HEH SX32 Fl 500,000 300,000 200,000
401 AlEHIZL 208l 500,000 300,000 200,000
01 Al&HI 496,400 297,840 198,560
OFFH =X AL 496,400
03 AlZ=20Hbl 3,600 2,160 1,440
OFAH SXal2 AIZLUH
500,000,000 *0.72% 3,600
IHE =LA 2e 62,905 124,350 261,445
N =0t 22| 62,905 124,350 AB61,445




M HR
3 HEXH

Sl JHEFEEII 22 (el &2
_ _ - HEE =
SN B SRA(SIH) - MBAY - BAS 04l &k 24 e HlnE2

201 Yer2 YY) 61,905 95, 186 33,281

01 AR eIt 30,700 58,581 ~27,881
z9 7,700
OME=e 25448 23,000

2 T2l 31,205 36,605 A5,400
oz 16,705
ONZH FEANAY SN24 248 14,500

202 01t 1,000 6,000 25,000

01 =2UoiHl 1,000 6,000 A5,000
OMEZeI2A SHTA 1,000

SoE ey 188,270 55,476 132,794

el U X 188,270 55,476 132,794

101 @121t 133,600 12,076 121,524

04 JIAH2EZHE LS4 133,600 2,076 121,524
OELIEEA= 65,000
GRENCELEE 65,000
OISR SII-FIEA-1 3,600

201 Yer2 gyl 47,170 37,400 9,770

01 AR eIt 40,850 25,000 15,850
oz 22,850
OZAAASY ALY 6,000
OMLHZ NS HANDESLE 2,000

2 222 6,320 12,400 26,080
oz 6,320

202 01t 6,000 5,000 1,000

01 =Uoib] 6,000 5,000 1,000
OYelge =3 5,000
OZAZA, B2 BSHSL 1,000

203 HRFAY| 1,500 1,000 500

03 AlMEZ L= 1,500 1,000 500
ONYHEZAAA YRET 1,500

HHSSZH (R 26,370,785 26,139,817 230,968
= 167,650
= 2,000
, 2 26,201,135

o= 2 bl 28,440 33,250 £4,810

2 28,440 33,250 A4,810

201 LByl 17,400 20,770 £3,370

01 ARl 12,944 15,690 £2,746




S W2
Y HE2HZH (MR)
erel: o= SERC)
A BB O(B) - NEAY - BAS sy S RS2
Ol &
O 12,944
02 23234l 4,456 5,080 A624
O&H 4,456
202 O4H| 11,040 12,480 A1,440
01 =LA bI 11,040 12,480 AN1,440
ORAME2Z =N 11,040
oled 2| 26,342,345 26,106,567 235,778
= 167,650
= 2,000
= 26,172,695
olE2A| 26,335,678 26,036,567 299,111
= 167,650
= 26,168,028
101 14| 21,823,007 21,338,807 484,200
= 167,650
= 21,655,357
01 B+ 18,105,829 18,358,304 A252,475
o328, x|, 8¢) 10,017,416
—d2H 69,836,000& x1E 14 69,836
— 23 (43) 66,082,000 x 13 1Y 66,082
—4= 3,212,200& x12& *3Y 115,640
—5= 2,919,300& = 12& 20 700,632
—6= 2,290,800& =128 x99 2,721,471
—7= 1,907,100 x12& x107H 2,448,717
= 167,650
= 2,281,067
—8= 1,488,800 x 12& 714 1,268,458
—9= 1,085,200 x 128 «47H 612,053
— K2 3,327,300 x12& «2YH 79,856
— KA 1,968,000& *12& x22H 519,552
—Jlse6ea 2,613,000 122 *3H 94,068
—Jls7a 2,223,120x12& x14Y 373,485
—Jls83 1,948,900 x 128 x22H 514,510
—Jls9=2 1,505,000 x 12& x17H 307,020
—Jls10= 1,167,000& «12& x9H 126,036
Osg &z 9,890,748,980& +0.018 178,034
(OFSF=t =, 9,890,748,980& *1/12%1.018 839, 066
Oz R (2F, FHI|2, 8H) 1,026,117
—58 9,796& *67 Al 2t 128 +40%*20H 63,008
—6= 8,312& 67 Al 2t 12& *40%*99L 264,641
—7= 7,457 3 %67 Al 2hx 128 x40%* 107 H 256,605
—8= 6,6823 *67 Al 2+ * 128 *40%+71H 152,575
—9= 5,993& *67 Al 2+ * 128 *40%*47YH 90,586




M R
By #E2AAH (W2
chel: o2t oyl
S HE - S(EH) - NRAY - BES sk oy S
0f 4 o
N 9,603& *67 Al 2t 128 +40%*2H 6,177
—XIZ A 7,801 *67 Al 2+ 123 x40%*22 55,194
—Jls6s 8,312 67 Al 2tx 123 »40%+3H 8,020
—Jlsra 7,457 367 Al 2t 123 +40%* 14 33,575
—Jls8=s 6,682% 67 Al 2+ * 128 *40%*22H 47,217
—Jls92 5,993& 67 Al 2+ 123 »40%* 17 32,765
—Jls10= 5,422 67 Al 2t 128 *40%+9H 15,694
OZD224Y(2F, FHI|R, S0) ANE
1,026,117,000& *0.018 18,471
O+ (HYREN) 41,526
— Ol & & 7,325 *30A| 2H+4E x1.018%4H 3,580
—Z24EY 7,3253 «15A1 2tx28 %1.018+4H 895
—AEZA Y INELA(SHIE)
7,325 *x30A1 2t%1.018+20H 4,475
-5 d=7
7,325 %20 A1 2tx3& x1.018+5F 2,238
—AOIHE 2Z
7,148 «16 A1 2tx2& x1.018+ 15 3,493
—9zd Y
7,325 %20 Al 2t 12 *1.018+12H 21,476
—RHA (2, B2=)
7,325 *30A1 2tx 123 %1.018%2LH 5,369
OJtE=4 315,120
— <= Xt 40,0003 128 x296 H 142,080
—S22IE 20,0003 123721 173,040
OPNIER: B, 126,103
—3stu 14,670
- 1=K 51,4003 43| x42H 8,636
=P\ 50,3103 *43| x29H 5,836
- 324X 49,500 *43| x1H 198
—usstn 111,433
- 12Xl Ot 420,790% 43| x48H 80,792
1=A U 371,290& +43| x8H 11,882
- 22X It 371,290 #4353 x 11 16,337
- 224X L 302,720 x43|x2H 2,422
O&Z2=¢ IHtt= 409,200
—25F 0] & 130,000& * 122 x100H 156,000
—208 014 251012t 110,000& 123 64 &H 84,480
— 153014 20 0] 8t 80,0003 »12& x99H 95,040
— 102014 1550/t 60,0003 »12& x44H 31,680
—5E 014 1008t 50,000& 123 »70H 42,000
ORg2f=+¢ 30,720
—UE 40,000 x 128 46 22,080
-3 30,0003 128 +x243H 8,640




S W2
Y HE2HZH (MR)
ool QE 2| (9 E2
A BB O(B) - NEAY - BAS Of o e Hl R =2
ORHEBRE Itz 7,200
- 249 50,0003 x12& x5H 3,000
—& 2" 50,0003 x 128 x1H 600
—=2 24 50,0003 *12& x6H 3,600
OURERAA=EY 148,205
—4=US 2,961,260 %4 .8%*12& x1.018+x4H 6,946
—52U=%
2,290,800 *4.8%* 128 *1.018x12H 16,120
—6=U=
1,907, 100& *4 . 8%+ 122 »1.018+80Y 89,461
—72UROIsHEE)
1,448,800& *4 . 8%+ 122 »1.018+39YH 33,132
—8z3UHRIIsHEE)
1,085,200& *4 . 8%+ 122 x1.018+4H 2,546
O gF+ 7,115
—4= 3,235,700 x12& *1.018+9/100+2H 7,115
OJlsg R+ 83,400
—58 50,0003 12& x6H 3,600
—6=~732 30,000 * 123 103 37,080
—8=~9= 20,0002 122 +31H 7,440
— A& 60,0003 x12& »2H 1,440
— X & At 50,000 »12& «23H 13,800
A= 20,040
- Jl=M 50,0003 x12& x1H 600
- DA 30,000 128 x42H 15,120
AP DAL 20,0002 122 «18H 4,320
Oz 29,532
-9 791,000 122 «1H 9,492
— =9 Ab 70,0003 x12& x1H 840
— 2t S At 50,0003 *12& 10 6,000
—22A% 50,0002 x12& «12H 7,200
— 2| 2 I A} 50,000& 122 10 6,000
Oltsxzd ¢ Ul =g 6,960
—13Ug 40,0003 x 123 144 6,720
—1&0(2¢ 20,0003 x12& x1H 240
OfgEszs=adsg 10,0003 123 x2H 240
Olages4Y 30,000& »12& «38H 13,680
OdMEESE 1,560
—34E0l& 50,0003 x 128 »2H 1,200
— 140/ &~340| et 30,0003 x12& +x1H 360
OgH2® =% 70,000 1239744 81,480
(OFF-Ea=y 19,392
—S4(83) 36,000 128 ~1H 432




SH: R
M HY2ITHI(HRY)
el Qe 2 (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
-k 50,0002 x12& 10 6,000
—2L Y A HeF
270,000 123 ~4H 12,960
OAzI=Xge=4 30,0002 x12& «16& 5,760
O=s0t5d=4 500,000& 12& x2&H 12,000
Osdad?R=d 31,416
— 2SS At 55,181&%752 x1.018+2& 8,427
— AL AL 55,1813 +1112+1.018+1& 6,236
—ZaEelA 55,1813 *1112+1.018x1& 6,236
—33EAM2 44,3493 x50 x1.018%1& 2,664
—BHYZA(IIA)
49,4483 x782 +1.018+2YH 7,853
ootz F=+4 16,249
—EAAZ (LS AL
2, 44221 %8 Al 212452 1.018+2 9,745
— 22222 (JIAH)
2,188 *8Al 2+3652 x1.018+ 1 6,504
OuMAA=& 480
—=sgJ|=sHH 40,0003 «12& 1L 480
O3 H sl 130,000& 128 467 H 728,520
(@FNE=jN ] 666,480
—4~55 140,000& » 128 243 40,320
—6~72 130,000& » 128 206 & 321,360
—8~92 120,000& 123 « 118 169,920
= 140,000 128 2% 3,360
— K= At 130,000& »12& 23S 35,880
—Jls6~7=2 130,000& 12E 173 26,520
—J1s8~10= 120,000 =128 »48H 69,120
OZE ROt 9,890,748,980& #2/12+60%1.018 1,006,879
OJHAHXI & Bl 9,890,748,980& *2/12%1.018 1,678,131
OdItE 24| 9,890, 748,980& *20/360+1.018 559,377
02 JIetR 2= 1,469,356 1,069, 831 399,525
OF=§-Rc=51 665,654
= 1,873,000% x12& 20 449,520
-85 a2 449,520,000 +0.018 8,092
&2+ 449,520,000 *1/121.018 38,135
—d2=¢ Jitts 19,200
25301 &f 130,000& »12& 3 4,680
208 0/4 25012 110,000& x 123 ~4H 5,280
158 0la 20018t 80,000 «12& x5& 4,800
108 0lar 154018t 60,0003 «12& «2H 1,440
- 55012 10& 018 50,000& x12& «5H 3,000
—IE=¢ 17,760




SH: R
M HY2ITHI(HRY)
el Qe 2 (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
- B Xt 40,000 x 128 ~18% 8,640
LIS 20,0003 x 123 ~38% 9,120
—NEEH EXH 1,727
- S n(1=X) 51,4002 43| «4H 823
- Setu (25 X) 50,3102 43| x4&H 805
- DSEW(SX It 420,790% *43]+6H 10,099
— A2 2R 113,698
e 6,340 +67 Al 2t 123 20 H 101,948
=t 6,340 *32A1 2t* 12 4 S 9,739
N2AQDRAg olare
111,685,000& «0.018 2,01
— 0222+ 2,2883 %3652 +1.018+8< 6,802
—x&=d 30,000 «12& x2& 720
OH et A 547,334
—=2 2,900,000& x12& x14& 487,200
—S2 A= 487,200,000 +0.018 8,770
— & 8,640
- B2 Xt 40,0003 * 123 ~8H 3,840
FIE 20,0003 *12& «20& 4,800
— Aol Ry
7,457 +67 Al 2Ex 128 x1/2%1.018% 14 42,724
OFMSAHI(HEZE) 130,0008 122 *20 31,200
(@NNE=3-- .| 50,160
— A &AL (OF) 140,000& »12& ~2H 3,360
— Ak A (2t) 130,000& x12E x6&H 9,360
— A= (0) 120,000& 12E %6 8,640
—HEZE 120,000& 128 »20H 28,800
OHE =t 449,520,000 »2/ 12%60%*1.018 45,762
OJHAHXI & Bl 449,520,000 *2/12x1.018 76,269
OdItE 24| 52,977
—HAIE 449,520,000& *20/360+1.018 25,423
— A=A 487,200,000& *20/360+1.018 27,554
03 RIAHAZZANE > 2,247,822 1,828,992 418,830
O=tZ 0133 21AH| 900,225
—Jl=s 1,154, 7403 » 128 »22H 304,852
—Jlg=¢ 1,724, 7403 »50%*4 2| x22H 75,889
—d2=¢ 1,724, 7403 x50%+23| x22H 37,945
— M= et 1,724, 7403 »50%+52| x22F 94,861
—ItE=x=g 17,040
- B Xt 40,0003« 123 18 8,640
FLNE 20,0002 123 «35& 8,400
—Sxgesdg 90,0003 x12& x22&H 23,760




SH: W2
HE: HH2IAZH (W2
chel: o2t oyl
S HE - S(EH) - NRAY - BES 01l &k o e
— I A+E 70,0003 128 +x22% 18,480
— M S A 160,000 *12& »22H 42,240
—Jt A2 2| 110,000 *12& »22H 29,040
— WS 2| 140,000 128 «22H 36,960
—FE SO 1,724, 7403 x60%*23] 2,070
—zn224Y 187,349
NEEE RS
7,630 *x150%*30A| 2t 12 »22H 90,645
a2e4Y
- 61,0503 *150%+4 2 x 128 »22H 96,704
—AXt=g 61,0503 15 x22H 20,147
—ANEEHIEESY 6,732
ESW (22X S9) 50,310& 43 +x1H 202
DSSw(1=X IJt) 420,790 *43] x2H 3,367
DSSW(=X L) 419,090 43| x 1 1,677
DEEW(2=X L) 371,290 451 1,486
— /=4 130,000& «22H 2,860
OMREZXTH & =23 773,808
—Jl=22 37,0003 253 459 421,245
—Jl&=g 9,361,000% x4/12x45% 140,415
—Az2tel=4 6,930 x15AI 2Hx12& +45H 56,133
—RE5dsY 37,0003 52 x45H 86,580
—ME == 70,000& 123 459 37,800
—AXt+g 37,000 x 15 459 24,975
—5U4222L(2H) 55,5003 60 x2H 6,660
O gels 107,549
—Jl=3 39,0003 253 x6H 59,202
—Jl2==g 9,867,000% x4/12+6H 19,734
—Al2telY 7,310&*15A1 2t% 123 +6LH 7,895
— R8s 39,0003 52 x6H 12,168
—MAE == 70,0003 122 «6H 5,040
— Xt 39,0003 152 x6H 3,510
OFUAYE SLAN X =JIUHNARA 59,170
—Jl2s 40,000 2532 3L 30,360
—J|Z==E 10,120,000 *4/12%3Y 10,120
—Az2tel=4 7,500 *15A1 2+ 123 »3H 4,050
—EUDRLY(SYHANDR)
60,000% 34 +2H 4,080
— R+ 40,0003 52 «3H 6,240
—ME=E 70,0003 128 +3H 2,520
— Xt 40,0003 152 x3H 1,800
OJls(F=R)e8 206,458
—Jl2s 47,300 *253 9 107,703




S W2
Y HE2HZH (MR)
ool QE 2| (9 E2
A BB O(B) - NEAY - BAS Of o e Hl R =2
—J|ZY=sg 11,966,900 *4/12+x9H 35,901
— A2t 8,860 x15A| 2hx 128 »9H 14,354
—Fd2g(NHEH L)
70,9503 x25 »7H 12,417
—R25dsY 47,3003 52 x9H 22,137
U ESE = 70,0003 x 128 x9H 7,560
PN = 47,3003 x 152 x9H 6,386
O=gGZM JI&s(E=)28 57,012
—Jl=2 53,000 253 x2H 26,818
—J|ZYe 13,409,000 *4/12x2H 8,940
— A2t 9,930& *48A| 2+ 122 x2H 11,440
—5422Y 79,5003 x8 x2H 1,272
—F=5d=E 53,0003 52 x2H 5,512
— M= 60,0003 122 x2H 1,440
— Xt 53,0003 x 15 »2H 1,590
OZHA=RES 65,000
OHLEERES 65,000
OL®}IILRHEZ 3,600
ORJNAHAZZ X BAX =] 10,000
203 HRF&H| 4,200 4,200 0
04 EA2IZRFEHI 4,200 4,200 0
ORNSZIRFAH 350,000& = 12& 4,200
204 M AH| 1,116,240 1,111,440 4,800
01 Mg PR 69,960 69,360 600
o= 39,360
-2 650,000 *12& 1% 7,800
-2z 400,000& *12& x1H 4,800
—4z ANE 350,000 *12& 2% 8,400
—5= WHE 100,000 *12& x 11 13,200
—saEAHE 50,0003 128 »7H 4,200
—0H=ZA0E 80,0003 x12& x1H 960
O&£I& 12,000
—EHOASRE, sYII=dHATE
400,0003 x 128 »2H 9,600
—EHAIENE, JsEgEg
100,000& = 12& x2H 2,400
os.¢ 16,800
-S.85E 150,000& * 123 7Y 12,600
= P 50,0003 *12& +x7H 4,200
OAS A (20U SAIEAIE &)
150,000 122 1 1,800
02 Mg EXH| 793,920 760,680 33,240




A TR
M HHSAAY| (P
chel: o2t oyl
SN HB - S2(3H) - MEAY - BAS Aol e
O, &x5)|&, 8¢ 793,920
- 500,000& x12& *1H 6,000
-2 450,000& =128 *x1H 5,400
—43 400,000& x12& x6H 28,800
—53 250,000& 128 »21H 63,000
—6= 155,000& »12& x99H 184,140
= 140,000& *12& = 107H 179,760
—8~93 105,000 x12& «118H 148,680
—Jls6= 155,000 =128 «3H 5,580
—Jls7’=2 140,000 *12& * 144 23,520
—J1s8~93 105,000& * 122 39 49,140
—Jls102 95,000& x12& «9H 10,260
— K E A 155,000 *12& x22H 40,920
—HJAFE 105,000 128 x20H 25,200
— H A 140,000 122« 144 23,520
SHgRE S| 252,360 281,400
ool g sl 50,000 *x12& x332H 199,200
OSdgR-AHa =l 53,160
— A 80,000& x12& 4H 3,840
L == 100,000 *12& x27H 32,400
— O AEE 140,000& 128 »4Y 6,720
—HIYH 50,000& x12& x1H 600
— 3| H H < 70,000& x12& *4H 3,360
— 2T 70,000& x12& *4H 3,360
—SARI|EY 70,000& x 128 «1H 840
—HEsaEY 100,000 = 128 «1H 1,200
-SRI 70,000& x12&x1H 840
AIREE=S 3,287,231 3,477,120
HA22E2 2,712,436 2,884,553
Odaz!Y & 2d3
11,146,421,000& *15.300% 1,705,403
Of & 22 11, 146,421,000 *7 . 1000% 791,396
OMa2a 22 11,146,421,000& *0.230% 25,637
OSRINE 2D0HHEZ2 222 190,000
20AH2ALSEHZ2 574,795 592,567
O=201AHUEEHZ  18,988,821,000& *5.81%*50% 551,626
O RALEH 551,625,250 x4 . 2% 23,169
oI12+0| & 105,000 105,000
Azk=22 105,000 105,000
OMEERS 90,000
OMlEx= 15,000




M R
By #FSAAL(HRD)
cHol: ol Y| (B9 &2
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS Ol & 4 01l & 01 s
ANEsEHIeHoE=2d 6,667 70,000 A63,333
L= 2,000
= 4,667
101 el H] 6,667 70,000 263,333
& 2,000
i 4,667
02 JIEtAE = 6,667 63,658 A 56,991
OHAE B 3,333,500 x1H «2& 6,667
< 2,000
= 4,667




